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Map Sheet 1 Visit OutdoorNebraska.org/PublicAccessAtlas/ for the most up-to-date online Public Access Atlas

[¡ OFW Fishing Site
[¡ Public Fishing Sites

OFW Open to Fishing Only
OFW Open to Hunting and Trapping
OFW Open to Hunting, Trapping and Fishing
U.S. Forest Service

NGPC State Park
NGPC Wildlife Management Area

In portions of western Nebraska an additional 40,000 acres 
of tall wheat or milo stubble and adjacent habitats are 
enrolled in OFW after the printing of the atlas. These sites 
are open to public hunting and will be displayed in the 
Stubble

 
Access Guide. They will also be added to online 

versions OutdoorNebraska.org/PublicAccessAtlas/ after 
Oct.

 
1st.
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